[image: image16.png](b) Calculate the above ratios to the nearest ONE DECIMAL PLACE

Earnings per share (there have been no share issues during the year)

Operating profit percentage

Retur on total assets

Acid test ratio

Trade payables payment period

Inventory holding period (days)

Assettumover (net assets)

Interest cover

150

132

105

10

a7.0

1121

08

59

pence

days

days

times

times




CBA Practice test model answers 

Financial Statements (FNST) 2
[image: image1.jpg]aat





[image: image2.png]Eigg Ltd
Reconciliation of profit from operations to net cash from operating activities
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[image: image4.png]Eigg Ltd - Statement of changes in equity for the year ended 31 March 20X1
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[image: image5.png]Prepare brief notes for the directors of Brondby Ltd to cover the followin

(a) When should a lease be classified as  finance lease and when should it be classified as an operating
lease according to IAS 17 Leases?

(b) (i) Explain how a finance lease is accounted for in the financial statements of the lessee at
the commencement of the lease term only.

(i) Explain how an operating lease is accounted for in the financial statements of the lessee.

() Which of the two leases Brondby Ltd is about to enter into, if any, would be classified as a finance lease?




[image: image6.png](2) ‘Alease is classified as a finance lease ifit ransfers substantially al the isks and rewards incidental to
ownership'

4 lease is classified as an operating lease ifit does not transfer substantially al the risks and rewards
incidental to ownership’

(145 17: Paragraph 8]

or

4n operating lease is a lease otherthan a finance lease’

[Paragraph 4]

(0) ) Atthe commencement of e lease term a finance lease should be recognised as an assetin the
statement of financial position, together with a corresponding liability to the lessor, at an amount equal to the.

lower or:

- the airvalue ofthe item, and
- the presentvalue of the minimum lease payments

[Paragraph 20]

(i) Lease payments under an operating lease are recognised as an expense on 3 straight
line basis over the lease term unless another systematic basis is more representative of the time pattern
ofthe user's benefit.

(Paragraph 33]

(©) As the lease period of the firstlease is for the major part of the economiclife of the asset, and the present
value of the minimum lease payments amounts to substantially all of he fair value of the leased asset, it
[should be classified as a finance lease. This is not the case for the second lease which should therefore be
accounted for as an operating lease.









[image: image7.png](a) Salmon Ltd has incurred a substantial bad debt amounting to 15% of its profit before tax. In
‘accordance with IAS 1 Presentation of financial statements, how should this item be presented in
Salmon Ltd’s Statement of comprehensive income and/or notes to the financial statements?

Not disclosed separately and treated as a distribution cost

Disclosed as an extraordinary ftem

s nature and amount disclosed separately

Not disclosed separately and treated as an adminisrative expense.
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[image: image9.png](c) Which of the following statements is correct?

‘Expenditure of £11,000 may be recognised as an intangible asset

‘Expenditure of £8,000, subject to satisfying certain criteria, may be recognised
s anintangible asset

‘Expenditure of £3,000, subject to satisfying certain criteria, may be recognised
s anintangible asset

Both types of expenditure must always be recognised as an expense as they
are incurred
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Task 1.5
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NOTE:

The model answer shows answers rounded down but answers rounded up are equally valid.

Task 2.2
Mike,
As requested I have analysed the working capital of Humber Limited by means of computing four accounting ratios for the company and comparing these to industry averages.  My analysis is as follows:

(a)

(i) Current ratio is better 






    
· Humber Ltd has more current assets available to meet its current liabilities/more solvent

    

· However, looks to be too high/ indicates less efficient management of working capital

    
· It may have higher levels of receivables, inventories or cash & cash equivalents/

    

lower payables.





    

   


    
(ii)

Inventory holding period is worse







    
· Humber Ltd is selling its inventories less quickly than the industry average




· Could be due to old/obsolete stock/ less demand from customers
/poor stock management systems.





    

(iii)

Trade receivables collection period is worse 






    
·   
Humber Ltd is taking longer to collect debts
· 
Bad for cash flow






  

    
    

·    Could be due to poor credit control procedures
·    May just be offering longer credit terms to boost sales

·    Could indicate the presence of bad debts.





                 
(iv) Trade payables payment period may be considered to be better 

(if linked to supplier goodwill) or worse (if linked to cash flow).


    
·     Humber Ltd is paying its trade payables sooner [6 days quicker]

· 
Bad for cash flow

· 
Good for supplier goodwill





    
·     It may have negotiated additional settlement discounts with suppliers/ suppliers may have dictated shorter payment terms.


                                        

(b) 

Suggestions to improve the management of working capital
· Increase turnover of inventory/reduce inventory levels e.g. improve stock control procedures, reduce 


selling prices, better marketing.



· Collect debts more quickly/reduce trade receivable days
 e.g. improve debt collection procedures, 

reduce credit periods.
· Increase the length of time taken to pay trade payables/increase trade payable days e.g. negotiate 

extended credit terms, improve payment procedures. 

Task 2.3
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(a) Whatis the objective of general purpose financial reporting according to the IASB Conceptual
Framework for Financial Reporting?

(b) Give THREE reasons why users might be interested in the information contained in financial
statements.

[a)

The objective of general purpose financial reporting according to the 14SB Conceptual Framework for
Financial Reporting is

“to provide financial information about the reporting entity that is useful to existing and potential investors,
lenders and other creditors in making decisions about providing resources to the entity”

(Conceptual Framework Chapter 1: Paragraph 0B2]
0

To decide when to buy, hold or sell an equity investment
To assess the stewardship or accountability of management

To assess the abilty of the entityto pay and provide other benefits to its employees.
To assess the security for amounts lent o the entiy.

1o determine taxation policies.

To determine distributable profits and dvidends.

To prepare and use national income statistics

To reguiate the activties of entities

(Conceptual Framework Introguction]
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